ZOOLOGY

. Arrange the following layers of muscles in the correct sequences from outside to
inside

a) epimysium b)endomysium c)perimysium d)sarcoelmma

a) a-c-d-b b) b-d-c-a ¢) a-c-b-d d) c-a-b-d

. A:J.Z.Young described birds as the masters of Air.
R:Birds are teh only flyiong aminals.
a) Both (A) and (R) are true and (R) is correct explanation of (A)
b) Both (A) and (R) are true and (R) is not correct explanation of (A)
c) istrue but (R) is false
d) Both (A) and (R) are false

. The endoskeleton in cyclostomata is
a)absent b) bony c)fibrous and cartilageous d) bony and fibrous

. A bilateral symmetry deuterostome is classified in the phylum
a)annelida b)chordata c)arthropoda d)echinodermata

. P"of acid rain is
a) 0.5-3.5 b) 3-6 ¢) 7-10 d) 10-14

. Which one of the following mammalian cells is not capable of metabolizing glucose
to carbon dioxide aerobically?

a) Red blood cells
b) White blood cells
c) Unstriated muscle cells

d) Liver cell
Match the list -1(Drug) with list 11 ( source) and select the correct answer.

List-1 List -2

A. LSD 1.Papaver

B. Opium 2. Claviceps

C. Cocanine 3. Cannabis

D. Hashish 4. Erythroxylum sps
a) A=2,B=4,C=1,D=3 b)A=3,B=2,C=1,D=4

c)A=2,B=1,C=4,D=3 c)A=4,B=-3,C=2,D=1

. Arrange the following vertebrates having Amphiplatyan, Procolous ,Heterocolous
and Amphicoelous vertebrate respectviely in a segence.

A)Rabbit B)Pigeon C)Caecilians D)Alligator
1)A-C-B-D 2)C-B-D-A " 3)C-B-A-D 4)A-D-B-C

Following are the statements about smog
1. Itis a mixture of smoke and fog
2. London smog consists of H,s04
3. Los Angeles smog is the reducing smog



a) All are true

b) Only 1 &2 are true
c) Only 2&3 are true
d) Only 3&1 are true

10. Differentiation of organs and tissues in a developing organism, is associated with:
a) Deletion of genes
b) Developmental mutations
c) Differential expression of genes
d) Lethal mutations

KEY:

1C 2C 3D 4B 5.B 6b 7C 8D 9B 10.C




BOTANY

1. The formulas used for calculation of stomatal index is

a) | =E+S b) I=E
S S
0 I=s d)I=ExS
E+S

2. Match the following

List 1 List 1l
A) anthrax of sheep I) mycobacterium tuberculosis
B) tuberculosis of cattle I1) Mycobacterium bovis
C) Actinomycosis of cattle I11) Vibriuotetus
D) Vibriosis IV) Bacillus anthracis
A B C D
a) v Il | 1
b) | 1 Il v
C) v | 1 Il
d) v Il 1 |

3. Source of penicillin and streptomycin respectively are
1) Fungus I1) Blue greenalgae Il11) Red algae 1V) Bacterium

a) land Il b) Il and I c) llland IV d) land IV

4. Desmids are known as
a) Brown algae b) Golden algae c) Green algae d) Red algae

5. Study the following lists and Identlfythe correct match

List-1, List-11

A) Palynology 1)Stephan Hales

B) Plant physiOlogy 2) Cronquist

C) Plant taxonomy 3) Vishnumitre .
0) Plant taxonomy 4) Gaspard Bauhin

5) Bentham & Hooker
The correct match is

A B C D
a) 4 4 1 5
b) 3 5 1 4
c) 3 2 1 5
d 3 1 4 2
6. Study the following table
Taxon Inflorescence Stem
i) Canna Compound raceme Rhizome

ii) Hamelia Helicoid monochasial Normal



Runner
Tuberous stem

iii) Oxalis Hypanthodium
iv) HeJdianthus Heterogamous head
Which taxa shows the correct combination?

a) i &iii b) ii only C)ili&iv d)i&ii

7. The ratio of cohorts seen in polypetatae and gamopetalae respectively in B & H

system is
a)2:3 b) 3: 2 c)1:2 d)2:1,
8. Colchicine is obtained from Colchicum autumnale. It belongs to family
a) Liliaceae b) solanaceae c¢) Leguminaceae d) Poaceae
9. Prokaryotic cells are represented by
I. Bacteria Il. Cyanobacteria Ill. Mycoplasmas  1V. PPLO
a) LIHLV,IV, D)LILHILLIV oLILIV.V d)ILHLIV,V

10. Assertion (A): This is the main concept of cell doctrine theory.
Reason (R): cell is a structural and functional unit of all organisms

V. Yeasts

a)
b)
c)
d)

Both (A) and (R) are true and (R) is correct explanation of (A)
Both (A) and (R) are true and (R) is not correct explanation of (A)
is true but (R) is false

Both (A) and (R) are false

KEY:

1.C

2C 3D 4B 5D 6B 7B 8A 9B 10.A




